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1. 1 अश्वशक्ति = लगभग ________ वॉट्स | 
A. 674 
B. 746 
C. 647 
D. 764 
Ans. B 
Sol. 
* 1 हॉर्स पावर या अश्वबल का शक्ति स्िर लगभग 
746 वाट (W) के बराबर होिा है। 
* हॉर्स पावर र् ेवाट में बदलने के ललए, 746 र् े
गुणा करें। 
 
2. कैं टेब्रियन पवसि ककर् देश में हैं? 
A. भारि 
B. स्पेन 
C. जमसनी 
D. पुिसगाल 
Ans. B 
Sol. 
• कैं टेब्रियन पवसि स्पेन की प्रमुख पवसि श्रृंखलाओृं में 
र्े एक हैं। 
• वे पूरे उत्तरी स्पेन में 300 ककमी र् ेअधिक लृंबाई 
और 50 ककलोमीटर चौडाई में फैला है। 
• पपकोर् डी यूरोपा नेशनल पाकस  यहीृं पर क्स्िि है 
और यूनेस्को की पवश्व बायोस्फीयर ररज़वस (र्ृंरक्षिि 
जैवमृंडल) में र्ूचीबद्ि है। 
 
3. ननयालर्न ननम्नललखखि में र्े ककर् पवटालमन का 
रार्ायननक नाम है? 
A. पवटालमन D 
B. पवटालमन C 
C. पवटालमन B3 
D. पवटालमन B12 
Ans. D 
Sol. 
• ननयालर्न पवटालमन B3 का रार्ायननक नाम है। 
• यह खमीर, माृंर्, मछली, दिू, अृंडे, हरी र्क्जजयाृं, 
और अनाज जैर्े खाद्य पदािों में पाया जािा है। 
 

4. काला र्ागर ननम्न में र् ेककर् देश के र्ाि अपनी 
र्ीमा र्ाझा नहीृं करिा ? 
A. यूके्रन 
B. िुकी 
C. मैर्ेडोननया 
D. रूर् 
Ans. C 
Sol. 
• काला र्ागर मैरे्डोननया के र्ाि अपनी र्ीमा र्ाझा 
नहीृं करिा । 
• यह यूके्रन, रूर्, िुकी, जॉक्जसया, बुल्गाररया और 
रोमाननया के र्ाि अपनी र्ीमा र्ाझा करिा है। 
• इर्की आपूनिस कई प्रमुख नददयों द्वारा की जािी 
है, जैर्े कक डेन्यूब, नीपर, दक्षिणी बग, डेननस्टर, 
डॉन, और राई। काले र्ागर में प्राकर निक गैर् और 
िेल का बहुि बडा भृंडार है। 
 
5. परथ्वी पर ककिनी दाब पेटी हैं? 
A. 5 
B. 6 
C. 7 
D. 8 
Ans. C 
Sol. 
परथ्वी पर कुल 7 दाब पेटी हैं। इनका नाम ननम्न है 
- 
1. पवषुविीय ननम्न दाब पेटी - 10 डडग्री उत्तर र् े
10 डडग्री दक्षिण अिाृंश के बीच पाई जािी है। 
2. उत्तरी उपोष्णकदटबृंिीय उच्च दाब पेटी - उत्तरी 
गोलािस में 23.5 डडग्री र्े 35 डडग्री अिाृंश के बीच 
पाई जािी है। 
3. उत्तरी उप धु्रवीय ननम्न दाब पेटी - उत्तरी गोलािस 
में 45 डडग्री र् े66.5 डडग्री अिाृंश के बीच पाई जािी 
है। 
4. उत्तरी धु्रवीय उच्च दाब पेटी - उत्तरी गोलािस में 
80 डडग्री र्े 90 डडग्री अिाृंश के बीच पाई जािी है। 
5. दक्षिणी उपोष्णकदटबृंिीय उच्च दाब पेटी - दक्षिणी 
गोलािस में 23.5 डडग्री र्े 35 डडग्री अिाृंश के बीच 
पाई जािी है। 
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6. दक्षिणी उप धु्रवीय ननम्न दाब पेटी- दक्षिणी 
गोलािस में 45 डडग्री र्े 60 डडग्री अिाृंश के बीच पाई 
जािी है। 
7. दक्षिणी धु्रवीय उच्च दाब पेटी - दक्षिणी गोलािस 
में 80 डडग्री र् े90 डडग्री अिाृंश के बीच पाई जािी 
है। 
6.चुृंबकीय प्रवाह (फ्लतर्) एक ___________ है? 
A. अददश रालश 
B. र्ददश राशी 
C. चुृंबकीय राशी 
D. इनमें र्े कोई भी नहीृं 
Ans. B 
Sol. 
● चुृंबकीय प्रवाह एक र्ददश रालश है। 
● चुृंबकीय प्रवाह की SI इकाई वेबर है और CGS 
इकाई वेबर है। 
● यह अलभलृंब िेत्र के और्ि चुृंबकीय िेत्र का 
उत्पाद है जो इर्े भेदिा है। 
 
7. गगन (GAGAN) ननम्नललखखि में र्े ककर् एजेंर्ी 
द्वारा पवकलर्ि ककया गया है? 
A. डीआरडीओ और एएआइ 
B. इर्रो और एएआइ 
C. डीआरडीओ और इर्रो 
D. डीआरडीओ, इर्रो और एएआइ 
Ans. B 
Sol. 
गगन (GAGAN) पररयोजना डीआरडीओ और 
एएआइ द्वारा पवकलर्ि की गई है। 
● गगन जीपीएर् एडेड क्जयो ऑगमेंटेड नेपवगेशन 
लर्स्टम को र्ृंदलभसि करिा है। 
● GAGAN एक रीजनल र्ेटेलाइट बेस्ड ऑगमेंटेशन 
लर्स्टम (SBAS) है। 
● GAGAN का लक्ष्य भारिीय हवाई िेत्र और आर्-
पार् के िेत्र में र्टीक लैंडडृंग में पवमानों की र्हायिा 
के ललए एक नेपवगेशन प्रणाली प्रदान करना है। 
● GSAT 8, GSAT10 और GSAT 15 ने 
GAGAN पेलोड लॉन्च ककया है। 

 
8. निम्िललखिि में स ेकौि ककसी क्षेत्र को अिुसूचिि 
क्षेत्र घोषिि कर सकिा है? 
A. भारि का मुख्य न्यायाधीश 
B. भारि का महान्यायवादी 
C. भारि का राष्ट्रपनि 
D. प्रधािमंत्री 
Ans. C 
Sol. 
• संषवधाि राष्ट्रपनि को ककसी भी क्षते्र को अिुसूचिि 
क्षते्र घोषिि करिे का अचधकार देिा है। 
• भारि के राष्ट्रपनि ककसी अिुसूचिि क्षेत्र को बढा 
या घटा सकि े हैं या उसकी सीमाओं म े पररविति 
सकि ेहैं। 
 
9. अिुसूचिि क्षेत्रों में शांनि और सुशासि के बेहिर 
प्रबंधि के ललए निम्ि में से कौि नियम बिा सकिा 
है? 
A. मुख्यमंत्री 
B. राज्यपाल 
C. आददवासी सलाहकार पररिद 
D. राष्ट्रीय अिुसूचिि जानि आयोग 
Ans. B 
Sol. 
• राज्यपाल अिुसूचिि क्षेत्रों में शांनि और सुशासि 
के बेहिर प्रबंधि के ललए नियम बिा सकि ेहैं। 
• अिुच्छेद 244 आददवासी सलाहकार पररिद के 
परामशत स ेजिजािीय मामलों के संबंध में स्विंत्र 
षवधाि लािे के ललए राज्यपाल को पूर्त अचधकार 
प्रदाि करिा है। 
 
10. भारिीय संषवधाि की छठी अिुसूिी_________ 
आददवासी क्षेत्रों के प्रशासि के ललए षवशेि प्रावधाि 
प्रदाि करिी है। 
A. असम 
B. मेघालय 
C. लमजोरम 
D. उपरोति सभी 
Ans. D 
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Sol. 
• संषवधाि की छठी अिुसूिी असम, मेघालय, त्रत्रपुरा 
और लमजोरम में जिजािीय क्षते्रों के प्रशासि के ललए 
षवशेि प्रावधाि प्रदाि करिी है। 
• भारिीय संषवधाि का अिुच्छेद 244 अिुसूचिि 
क्षेत्रों और जिजािीय क्षेत्रों के प्रशासि स ेसंबंचधि 
है। 
 
11. Select the most appropriate meaning of 
the underlined idiom in the given sentence.  
Our PM is received with open arms 
wherever he goes. 
A. Honourably 
B. Promptly 
C. Warmly 
D. Harmoniously 
Ans. C 
Sol. 
“With open arms” means with great 
affection or enthusiasm. Option C “warmly” 
is closest to this meaning. That is why C 
is the right answer. 
 
12. In the sentence identify the segment 
which contains the grammatical error.  
Across his morning walk on a beach in 
Mamallapuram, Prime Minister Modi was 
seen picking up plastic litter, bottles, and 
other items. 
A. Across his morning walk 
B. picking up plastic litter 
C. on a beach in Mamallapuram 
D. Prime Minister Modi was seen 
Ans. A 
Sol. 
“Across” is the wrong preposition here. 
“Across” should be replaced with “during”. 
Therefore there is an error in part A. 
 

13. Select the most appropriate word to fill 
in the blank.  
He obtained 80% marks in Science in High 
School. He has qualified _____ the science 
stream in plus two. 
A. for 
B. at 
C. to 
D. in 
Ans. A 
Sol. 
The correct preposition that should be used 
here is “for”. Therefore, the correct answer 
is option A. 
 
14. Select the INCORRECTLY spelt word. 
A. labour 
B. lantern 
C. literature 
D. laboratery 
Ans. D 
Sol. 
Option D has the incorrectly spelt word. 
The correct spelling of the word is 
“laboratory”. 
 
15. Select the most appropriate synonym of 
the given word.  
TRANQUIL 
A. nervous 
B. agitated 
C. calm 
D. wild 
Ans. C 
Sol. 
Tranquil = calm, peaceful or quiet 
Agitate = make (someone) troubled or 
nervous. 
It means that option C is correct. 
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16. Given below are four jumbled 
sentences. Pick the option that gives their 
correct order.  
P: In today’s electronic age, people are 
starting to consider going paperless. 
Q: From our newspapers to our paper 
wrappings, paper is still everywhere. 
R: Most of them are ending up in our 
landfills creating a staggering amount of 
paper waste. 
S: But there’s still a long way to go before 
we lose our dependence on this very 
important human product. 
A. RPQS 
B. QRSP 
C. PSQR 
D. SQRP 
Ans. C 
Sol. 
The sentence introduces the subject i.e. 
use of paper and stop using it. The rest of 
the sentences talk about the same and 
further elaborate it. P should therefore be 
the first in the sequence which happens in 
option C. That is why C is the correct 
answer. 
 
17. Direction: Choose the most appropriate 
option to change the narration (direct / 
Indirect) of the given sentence.  
The old lady said, “May God bless you and 
give you all you desire in life!” 
A. The old lady said that God may bless 
you and give you all you desire in life. 
B. The old lady wished that God would 
bless me and give me all I desired in life. 
C. The old lady says that may God bless 
you and give you all you desire in life. 

D. The old lady said that God will bless 
me and give me all I desire in life. 
Ans. B 
Sol. 
The given sentence is in direct form and 
we have to convert it into indirect form. 
This is an example of optative sentence 
and hence ‘Said to’ in reporting verb gets 
changed to ‘wished’upon conversion. 
Since, the reporting verb of the given 
sentence is in past tense and therefore the 
reported speech will undergo the following 
changes upon conversion: 
• ‘Comma’ is replaced with ‘that’ 
• Modal ‘Will’ gets changed to ‘Would.’ 
• Pronoun ‘You’ in reported speech gets 
changed to the objective form ‘me.’ 
• verb ‘Desire’ gets changed to ‘desired.’ 
Out of all the alternatives, only option B 
adheres to the given rules. Hence, option 
B is the correct choice. 
 
18. Select the most appropriate meaning of 
the given idiom.  
be the Devil’s advocate 
A. to present a counter argument just for 
the sake of it 
B. to present an argument in favor of a 
well-known evil man 
C. to represent the devil as an advocate in 
witch trials 
D. to represent an accused in a murder 
trial 
Ans. A 
Sol. 
Devil’s advocate is an idiomatic expression 
to depict ‘a person who expresses a 
contentious opinion in order to provoke 
debate or test the strength of the opposing 
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arguments. Therefore, option A is the 
correct answer. 
 
19. Select the most appropriate word for 
the given group of words.  
an arrangement of flowers that is usually 
given as a present 
A. bouquet 
B. bunch 
C. wreath 
D. cluster 
Ans. A 
Sol. 
Bouquet is an arrangement of flowers that 
is usually given as a present. 
Wreath means an arrangement of flowers, 
leaves, or stems fastened in a ring and 
used for decoration. 
Cluster means bunch or collection. 
Therefore, option (A) is the correct answer. 
 
20. In the sentence, identify the segment 
which contains the grammatical error. 
If the sun rises in West, we would get to 
witness new space explorations and time 
zones. 
A. we would get to witness 
B. new space explorations 
C. If the sun rises in West 
D. and time zones 
Ans. C 
Sol. 
Option C has the grammatically incorrect 
part. The sun never rises in west nor will 
it in future. This situation is totally 
improbable (no chance of it happening), so 
here we have to use ‘PAST SUBJINCTIVE 
MOOD’ OR V2. So, omit ‘rises’ and write 
‘rose’ in its place. 

 
21. निम्िललखिि शब्दों को सार्तक क्रम में 
व्यवक्स्र्ि करें। 
1. कुत् िा,  
2. चगरचगट 
3. चिपंांजी  
4. त्रबल् ली 
5. भैंस  
6. मगरमच् छ 
A. 2,6,1,4,5,3 
B. 5,3,4,1,2,6 
C. 2,6,1,5,4,3 
D. 6,3,4,1,2,5 
Ans. A 
Sol. 
According to their average life span, 

 
So the correct order will be, 
2 - 6 -1 - 4 - 5 - 3 
Hence, the correct response is option (a) 
 
22. उस सेट का ियि करें क्जसमें संख् याएं उसी 
प्रकार इंटरललकं हैं क्जस प्रकार िीिे ददए गए सेट में 
संख् याएं संबंचधि हैं। 
(8, 16, 12) 
A. (5, 15, 13) 
B. (3, 6, 2) 
C. (7, 14, 11) 
D. (1, 4, 2) 
Ans. B 
Sol. 

 
Similarly, 

http://www.gradeup.com/
http://bit.ly/32EdwOO


www.gradeup.co 
 
 

 
7 

 

 
Hence, option B is correct answer. 
 
23. एक पास ेकी दो घुमावदार क्स्र्नियां िीिे दी 
गई हैं। यदद 4 सबसे िीिे है िो कौि सी संख्या 
सबसे ऊपर होगी? 

 
A. 3 
B. 5 
C. 2 
D. 1 
Ans. B 
Sol. 

 
From (1) and (2), side face of 5 will be 
1,3,2 and 6. 
Therefore, if ‘4’ is at the bottom then 5 will 
be at the top. 
Hence, option B is the correct response. 
 
24. निम्िललखिि समीकरर् को सही बिािे के ललए 
ककि दो संकेिों को परस्पर बदला जािा िादहए? 
55+7×5-28÷4=27 
A. ÷ और + 
B. × और ÷ 
C. + और - 
D. + और × 
Ans. C 
Sol. 
By checking Option A, 
55+7×5-28÷4=27 
After changing the symbols, 

55÷7×5-28+4=27 
Applying BODMAS we get, 
=55÷7×5-28+4 
Since, 55 is not divisible by 7, so result will 
come in decimal. 
Therefore, 55+7×5-28÷4=27 is not the 
correct equation. 
By checking Option B, 
55+7÷5-28×4=27 
After changing the symbols, 
55+7×5-28÷4=27 
Applying BODMAS we get, 
=55+35-7 
=90-7 
=83 
Therefore, 55+7÷5-28×4=27 is not the 
correct equation. 
By checking Option C, 
55+7×5-28÷4=27 
After changing the symbols, 
55-7×5+28÷4=27 
Applying BODMAS we get, 
=55-35+7 
=20+7 
=27 
Therefore, 55+7×5-28÷4=27 is the correct 
equation. 
By checking Option D, 
55+7×5-28÷4=27 
After changing the symbols, 
55×7-5+28÷4=27 
Applying BODMAS we get, 
=385-5+7 
=385+2 
=387 
Therefore, 55+7×5-28÷4=27 is not the 
correct equation. 
Hence, option C is the correct response. 
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25. एक अक्षर श्रंिला िीिे दी गई है क्जसमें कुछ 
अक्षर लुप् ि हैं। उस षवकल्प का ियि करें जो उि 
अक्षरों को देिा है जो इस क्रम में इि ररति स्र्ािों 
को भर सकि ेहैं। 
a_ca_bab_ad_abc_db 
A. bcdba 
B. bdcba 
C. bdcab 
D. bddac 
Ans. B 
Sol. 
The sequence is – abcadb 
The complete series is as follows:- 
abcadb/abcadb/abcadb 
Therefore, (b) is the correct option. 
 
26. उस षवकल्प का ियि करें जो िीसरे अक्षर-
समूह स ेउसी प्रकार से संबंचधि है क्जस प्रकार स े
दसूरा अक्षर-समूह पहले अक्षर-समूह स ेसंबंचधि है। 
CDAF : XWZU :: DEFC : ? 
A. XWYV 
B. WVXU 
C. WVUX 
D. VWXY 
Ans. C 
Sol. 
दसूरे समूह के अक्षर पहले समूह के उल्टे वर्तमाला 
क्रम हैं। 

 
इसललए, षवकल्प C सही उत्तर है। 
 

27. ननम्नललखखि श्रृंखला में आने वाले अिर तलस्टर 
का चयन करें। 
FQB, HSD, GRC, ITE, HSD,? 
A. JMF 
B. JUT 
C. JUF 
D. RUF 
Ans. C 
Sol. 
Given series follows the pattern given 
below: 

 
Hence, the correct answer is option C. 
 
28. यदद 2tan θ + 3sec2θ = 8, 0o< θ < 90o 

है, िो =? 

A.  
B.  
C.  
D.  
Ans. B 
Sol. 
यहााँ, 2tan θ + 3sec2θ = 8 
⇒ 2 tanθ + 3 ( 1+ tan2θ)= 8 
⇒ 3tan2θ + 2tanθ + 3 = 8 
⇒ (tanθ-1)(3tanθ+5) = 0 
⇒tanθ = 1 = tan45º 
⇒θ = 45º 

इर्ललए,  का 
मान 

 
पररमेयकरण करने पर हमें प्राप्ि होिा है : 
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29. A और B एक ही समय पर एक दसूरे की ओर 
क्रमशः X और Y स्र्ािों स ेिलिा शुरू करि ेहैं। A 
की गनि B की िुलिा में 20% अचधक है। रास्ि ेमें 
लमलिे के बाद A और B को क्रमशः Y और X िक 

पहंुििे में घंटे और x घंटे लगि ेहैं। x का माि 
ज्ञाि करें? 

A.  

B.  

C.  

D.  
Ans. D 
Sol. 

 
A की गनि B की गनि से 20% अचधक है। 
यदद B की गनि = 5 इकाई 
िो, A की गनि = 6 इकाई 
माि कक वे त्रबदं ुC पर लमलिे हैं 
B को C िक पहुुँििे में लगा समय = 

 
C िक पहुुँििे में A द्वारा ललया गया समय = x 
घंटे 
सूत्र के द्वारा : 

 

 

 

 
 
30. लकड़ी के एक ठोस घि में स े अचधकिम 
संभाषवि आकर का एक लम्बवरत्तीय बेलि काटा जािा 
है। घि की शेि सामग्री वास्िषवक घि की ककििे 
प्रनिशि है? (π = 3.14 लें) 
A. 22.4 
B. 22.8 
C. 21.8 
D. 21.5 
Ans. D 
Sol. 
यदद लकड़ी के एक ठोस घि में से एक लम्बवरत्तीय 
बेलि काटा जािा है िो 
बेलि का अचधकिम व्यास घि के ककिारों के बराबर 
होगा। 
मािा घि की भुजा = a 

िो बेलि की त्रत्रज्या =  
बेलि की उंिाई = a 
घि का आयिि =  

बेलि का आयिि = π  
प्रनिशि = 

 
 
31. x2 + 3x + 2 + |x + 2| का न्यूििम माि 
ज्ञाि करें। 
A. -1 
B. 0 
C. 1 
D. -2 
Ans. A 
Sol. 
There will be two cases 
Case 1: when the value of x + 2 > 0 
Then x2 + 3x + 2 + x + 2 

http://www.gradeup.com/
http://bit.ly/32EdwOO


www.gradeup.co 
 
 

 
10 

 

= x2 + 4x + 4 
= (x + 2)2 
Minimum value in this case is 0 for x = -
2. 
Case 2: when the value of x + 2 < 0 
then x2 + 3x + 2 – (x + 2) 
= x2 + 2x + 1 – 1 
= (x + 1)2 – 1 
Minimum value in this case is -1 for x = -
1 
So the minimum value of function x2 + 3x 
+ 2 + |x + 2| is -1. 
 
32. यदद x3 + 5x2 + 10k को x2 + 2 स ेषवभाक्जि 
करि ेपर -2x शेिफल बििा है िो k का माि ज्ञाि 
करें। 
A. 0 
B. 1 
C. -1 
D. -2 
Ans. B 
Sol. 
Substitute x2 = -2 in the given expression. 
⇒ x2.x + 5x2 + 10k = -2x 

⇒  
⇒ -10 + 10k = 0 
⇒ k = 1 
 
33. 9 × [(9 – 4) ÷ {(8 ÷ 8 of 4) + (4 ÷ 4 
of 2)}] का माि : 

A.  
B. 20 

C.  
D. 60 
Ans. D 
Sol. 

9 × [(9 – 4) ÷ {(8 ÷ 8 of 4) + (4 ÷ 4 of 
2)}] 

= 9 × [(9 – 4) ÷ {  + }] 

= 9 × [5 ÷  ] 

= 9 ×  
= 60 
 
34. 8200 रुपये का ऋर् 5% प्रनिवित िक्रवरद्चध 
ब्याज की दर से, प्रत् येक वित के अंि में दो समाि 
वाषितक ककश्िों में िुकािा है। प्रत्येक ककश्ि की रालश 
ज्ञाि कीक्जए? 
A. 4100 रुपये 
B. 5000 रुपये 
C. 4410 रुपये 
D. 3650 रुपये 
Ans. C 
Sol. 

 
मान लो, मूलिन = 20 इकाई 
ककश्ि = 20 +1 = 21 इकाई 

 
चूृंकक ककस्ि बराबर है इर्ललए र्मीकरण (1) को 21 
र्े गुणा करें: 
कुल मूलिन = 420 + 400 = 820 इकाई 
⇒ 820 इकाई = Rs. 8200 
⇒ 1 इकाई = Rs. 10 
⇒ 441 इकाई = Rs. 4410 
इर्ललए प्रत्येक ककस्ि = Rs. 4410 

35. यदद 
है, िो (A2 + B2 – C2) का माि ज्ञाि करें? 
A. 30 
B. 40 
C. 20 
D. 15 
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Ans. C 
Sol. 

 

 
When we compare, we get – 

 
Required- 
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